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DEA

1.

DEA(Data Envelopment Analysis)
(Input Oriented)
2

(Output Oriented)

CCR Model (Charnes,Cooper
and Rhodes Model)
BCC Model (Banker,Charnes and Cooper Model)

CCR Model(Input Oriented) CCR-I

CCR Model (Output Oriented) CCR-O
BCC Model (Input Oriented) BCC-I

BCC Model (Output Oriented) BCC-O

2. CCR Model
CCR Model LPo DLP, 1

(2.7),(2.8) Yo
Xo

/
2 (2.16),(2.17) Xo
Yo

() o

LPo-1nput Oriented

Objective: u'y,=z—->max (2.1)
Constrained: V' X, =1 (2.2)
—V'X+Uu'Y<0 (2.3)
u=0 (2.4)
v=>0 (2.5)
DLPo-Input Oriented
Objective: W=6-—min (2.6)
Constrained: YAi2y, 2.7
—XA+X,620 (2.8)
A>0 (2.9)
Figurel: CCR-Input Oriented
LPQOo-Output Oriented
Obijective: P’ X, =Z—min (2.10)
Constrained: q'y.=1 (2.11)
-p'X+q'Y<0 (2.12)
p=>0 (2.13)
g=0 (2.14)
DLPOo-Output Oriented
Objective: W=7 —max (2.15)
Constrained: XM X, (2.16)
-YU+Y.n<0 (2.17)
n=0 (2.18)

Figure2: CCR-Output Oriented
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3. BCC Model Input Data and Output Data
BCC Model LPo DLP, 3 0=—XA" +X.0"
3 Input Matrix.: X=X.0" /A" (4.1)
/ OZ_Y“.*+y(>77*
. Output Matrix.: Y=Y.7" / . (4.2)
1=v" X,
Input Vector: Xo =1/v™ (4.3)
1=q l* yn
LPo-Input Oriented Output Vector: Yo =1/Q" (4.4)
Objective: U"Y,—U, =Z—>max (3.1) ‘
Constrained: V'X, =1 (3.2)
—Vv'X+u'Y<u.e (3.3) Yo=YA"
u=0 (3.4) 1=n"A" /1
v=0 (3.5) Lambda: A" H* /7]* (4.5)
M [
DLPo-Input Oriented
] Weight Vector
Objective: w=0->min (3.6)
Constrained: Yoy, (3.7) 0=—v"X+u"Y
XA +X,0>0 (3.8) VIX. 0" /A =uTy.n U
e Aot a9 o /3 =(u " )/(a" 1)
1>0 (3.10) 0" =u"/q"
Figure3: BCC-Input Oriented Output Weight: §- =U /6 (46)
0=—p"X+q"Y
P X. 0" /N =q"y.n" /W
LPOo-Output Oriented (p"0" )/ (V™" )=n" /W
Objective: P"Xo—Po=Z—>min (3.11) v*l: pa/v
Constrained: q'y.=1 (3.12) InputWeight: P =V" /0 (4.7)
-p'X+g'Y<p.e (3.13)
p=0 (3.14) ¥
qZO (315) pT*X() :VT*XU/G*
L 2 P X =V Xon"
DLPOo-Output Oriented Output Score: P Xo =1" (4.8)
Objective: W=n—>max (3.16) ‘
Constrained: XU X, (3.17)
~Yu+ y077£0 (3.18) Input Oriented and Output Oriented
e'p=1 (3.19) XU =X,
H>0 (3.20) O U /A =1
Figure4: BCC-Output Oriented 0 U* =A .
Input Score: 0 21/77 (4.9)
4 Figure5: Process
2 CCR Model




(4.7) ( ) 6. 1 1

( ) 1 1 DEA
(4.6) ( ) DEA-Solver
( ) 1
(4.9) CCR-I CCR-O DEA-Solver
X CCR-I y CCR-O
1 4 (4.9)
5. Slack Slack CCR-1 CCR-O
CCR-I Slack  CCR-O Slack 1

CCR-I Slack CCR-O Slack

(5.1),(5.2) (5.1),(5.2)  (4.5),(4.9) CCR-I CCR-O
(5.3),(5.4)
CCR-I Slack(+) CCR-I CCR-O X BCC-1 y BCC-O
Slack(+) CCR-I Slack(-) CCR-I 2 2

CCR-O Slack(-)

BCC-I1 BCC-O
CCR-I Slack
Excess: S~ =X.0—XA
Shortage: S =YA—Y, (5.1) Tablel: Data And Score
Data Score (1 Input / 1 Output)
CCR-OSlack y Input Output BCCA BCC-O CCRH CCR-0
o 4 1 1.0000000 | © 0.20! 0.208
Excess: T =X, =X p‘ : 4 3 1.0000000 | 1.0000000 | 0.6250000 | 0.6250000
Shortage: t = Yp. -n y o (5.2) : 5 6 1.0000000 | 1.0000000 | 1.0000000 | 1.0000000
B 6 2 0.6666667 | 0.2857143 | 02777778 | 0.2777778
‘ : 7 8 1.0000000 | 1.0000000 | 0.9523810 | 0.9523810
Slack Excess F 8 4 0.5416667 | 0.4761905 | 0.4166667 | 0.4166667
9 1 04444444 | 0.1136364 | 9.26E-02 9.26E-02
t =x,-X u - 9 6 05555556 | 0.6818182 | 0.5555556 | 0.5555556
t =X, - X\ n | 10 8 0.7000000 | 0.8695652 | 0.6666667 | 0.6666667
J 11 3 0.3636364 | 0.3125000 | 0.2272727 | 0.2272727
t =X, - X / 0 < 12 10 1.0000000 | 1.0000000 | 0.6944444 | 0.6944444
t 0=X.0— XA L 13 2 0.3076923 | 0.2000000 | 0.1282051 | 0.1282051
Excess: t =S / 2] (5.3) v 13 5 0.3589744 | 0.5000000 | 0.3205128 | 0.3205128
\ 14 3 0.2857143 | 0.3000000 | 0.1785714 | 0.1785714
14 7 04285714 | 0.7000000 | 0.4166667 | 0.4166667
Slack Shortage 15 10 0.8000000 | 1.0000000 | 0.5555556 | 0.5555556
16 1 0.2500000 | 1.00E-01 5.21E-02 5.21E-02
S =Yh- y ° ; 17 5 0.2745098 | 0.5000000 | 0.2450980 | 0.245098
S’ = Yu / n— yn : 17 8 04117647 | 0.8000000 | 0.3921569 | 0.3921569
S = Yu 06— Yo T 18 9 05277778 | 0.9000000 | 0.4166667 | 0.4166667
S* / 9= YH _ yo / P2 . 19 2 0.2105263 | 0.2000000 | 8.77E-02 | 0.0877193
v 19 7 0.3157895 | 0.7000000 | 0.3070175 | 0.3070175
s /0=Yu-ny.
" 20 4 0.2166667 | 0.4000000 | 0.1666667 | 0.1666667
Shortage: t =s" / 0 (5.4) X 21 6 0.2380952 | 0.6000000 | 0.2380952 | 0.2380952
¥ 21 2 0.1904762 | 0.2000000 | 7.94E-02 7.94E-02
Fi gu re6: Slack z 23 1 0.173913 | 0.1000000 | 3.62E-02 | 0.0362319
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Graphl: CCR Score

Table2: BCC Weight Vector

BCC-I BCC-O BCC-I BCC-O
! nput Weight/Score Input Weight )utputWeight/Scor Output Weight
e 0.250000000 3 0 1
B 0.250000000 1 0.0 0
S 0.200000000 0.200000000 0.166666667 0.166666667
& 0.250000000 0.500000000 0 0.500000000

0.142857143

0.125000000

0.142857143

0.125000000

r"" '
o’
Graph2: BCC Score
— - _
.. .
BCC Model CCR Model
2,3 3
( )
( )
( )
( )
4 (4.6) ,(4.7)
BCC Model
(2 )
[1] , DEA
, (1993)
[2] . -

, (2006), pp.186-218
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F 0.230769231 0.100000000 0.076923077 0.250000000
3 0.250000000 0.400000000 0 1
- 0.200000000 0.066666667 0.166666667 0.166666667
| 0.142857143 0.050000000 0.142857143 0.125000000
J 0.250000000 0.133333333 0.083333333 0.333333333
5 0.214285714 0 0.071428571 0.200000000
B 0.142857143 0 0.142857143 0.125000000
T 0.105263158 0 0.263157895 0.111111111
o 0.250000000 0 0 0.500000000
v 0.166666667 0 0.166666667 0.142857143
) 0.230769231 0 0.076923077 0.250000000
x 0.200000000 0 0.166666667 0.166666667
Y 0.250000000 0 0 0.500000000
Z 0.250000000 0 0 1
Table3: CCR Weight Vector

CCR-I CCR-O CCR-I CCR-O
! nput Weight/Score Input Weight JutputWeight/Scor Output Weight
a 1.200 1.200 1.000 1.000
E 0.400 0.400 ) 0
8 0.200 0.200 0.1 7 0.1
= 0.600 0.600 0.500 0.500
E 0.150 0.150 0.125 0.125
F 0.300 0.300 0.250 0.250
3 1.200 1.200 1.000 1.000
- 0.200 0.200 0.166666667 0.166666667
I 0.150 0.150 0.125 0.125
J 0.400 0.400 0. 0
s 0.240 0.240 0.200 0.200
8 0.150 0.150 0.125 0.125
T 0.133333333 0.1 0.111111111 0.111111111
- 0.600 0.600 0.500 0.500

0.171428571

0.171428571

0.142857143

0.142857143

" 0.300 0.300 0.250 0.250
X 0.200 0.200 0.1 7 0.1

Y 0.600 0.600 0.500 0.500
z 1.200 1.200 1.000 1.000






